MATH43032/63032 Exam Solutions, 2013!

Al.
Vis;NSy=0 or

0ps¢ — . .
i ;N Sy # 0 and for the least such i, s; N Sy C Sy.

The Representation Theorem for Rational Consequence Relations: Every rational consequence

relation on SL is of the form vz for some 5= sy, 55, .., s, C At”, and conversely every |y is

a rational consequence relation.

(i) Not true, (ii) True (iii) True.

A2. (a) Assume O A ¢ |~ = and 0 ¢ —p. From O A ¢ |~ —¢p by CON, 0 |~ ¢ — = and
with 0t =) and RMO, 6 A |~ ¢ — —). Since 0 A =1, 0 A |~ 1p by SCL. Hence, with
ONY ¢ — —p. and AND, O A |~ ¥ A (¢ — ), and, since Y A (¢ — =) = —¢, with
RWE, 0 A9 |~ —¢, as required.

(b) As usual let a5 = pAq,as = pA—q,as = “pAq, gy = 7pA—q. Running the Z-algorithm
we get:
Ay = {al,a2,a3,a4},
Ko=K={pVqp-p ~qpp}
Uy = A(] N Sﬁ(p\/q)\/ﬁp N S—|—|q\/p = A(] N S—|p N Sq\/p

= {az, au} N{a1, a9, az} = {as}.

A=Ay —u = {041,0427044}7
Ky ={—q P p,},since SpyyNus = {1, 0,03 t N{az} #0,
Sﬁqﬂul :{ag,a4}ﬂ{a3}=@,
up=A1 NS qvp={,a2,cu } N{ar, 0, a3} ={,as}.
Ay = A4 —U2:{OK4}7
Ky =0 since us N S-, = { g } # 0.
us = Ay = {a4}

Since all the atoms have now been used up we must have uy = () so the rational closure of K
is vz where
/L_[: Uy, U2, U3 = {053}, {a17a2 }7 {OK4}

A3. ForT' CSML,0 € SML, T X @ iff for all frames (W, E, V) andi € W, if (W, E,V),i |
¢ for all ¢ € T then (W, E,V),i = 6.

(i) Let (W, E, V) be a frame, i € W and suppose that (in (W, E,V)) i | =00, Then there
must be some j € W such that (i,j) € F and 7 ¥ &, If ¢ = 060 then j = 0 so i | <0 and

i | -0 Vv 0. On the other hand if ¢ ¥ 06 then i = =060 and again ¢ = —060 vV $f. Either
way then ¢ = =060 V &0 and -0 EX =06 v ©f follows.

(ii) Let (W, E,V) be the frame with W = {0,1,2}, £ = {(0,1),(0,2)}, Vo(p) = Vo(q) = 1,
Vi(p) =0,Vi(q) =1, Va(p) = 1, Va(q) = 0. Then 0 ¥ Og, since (0,2) € E and 2 ¥ ¢, so
1 ): —|Dq. (1)

1 As usual these are more detailed than I would necessarily require from the students since they are also
intended to serve an instructional purpose for the students.




Also 0 = O(p V q), since 1 |= ¢, 2 = p so at both vertices accessible from 0, p V ¢ holds, and
0 ¥ Op since (0,1) € E and 1 ¥ p. So

0¥ O(pVq) — Op.

Putting this together with (1) gives that =Oq ¥X O(p Vv ¢) — Op.

A4. A proofin D is a sequence of sequents I'1]601,T5|0s,...,T,|0,, where the I'; are finite
subsets of SML and the 6; € SML, such that for each ¢ = 1,2,...,m, either I';|; is an
instance of an axiom of D or djq, ja, ..., js < i such that

Fj1|9j1’ Fj2|9j2a R Fjsw's

is an instance of a rule of proof of D.
I' =P ¢ if 3 a proof in D, I'y|0;, 15|65, ..., |0, such that T',, C T and 6,, = 6.

Proof in D of FP 0Of — O06:

1 o | & D axiom
2 | (08 — <) IMR, 1
3 | O(08 — of) NEC, 2
4 0(00 — <&0) | OOl — 0ol K axiom
5 | O(00 — &) — (000 — 0OH) IMR 4
6 | 0O0 — O MP 3,5.

A5. Let A (= F,) satisfy (C1-C4) and let A ={x € [0,1] |z Ax =z }. Then for x € A and
0<z<zr<y<l,
2Ny =yAz=z=min{y, z},

and if a < b, a,b € A and (a,b) N A = ) then on [a, b] either {[a,b], A, <) = ([0,1], X, <) or
([a,b], A, <) = ([0,1], max{0,z +y — 1}, <).

Let G : [0,1]*> = [0,1] be defined by
G(z,y) = min{z, y, 2zy}.
and assume that satisfies C1-C4. Notice that for z € [0,1], 222 < z iff 0 < x < %, SO

G(z,r) =min{z,z,22*} =2 < =0 or : <x <1

N[

and

A= {re0,1]Glea) = o} = O} U[L 1]
By the above result then G(z,y) = min{z,y} whenever either z € [5,1] or y € [3,1]. On
[0,4], ([0, 3], G, <) is isomorphic to either ([0, 1], x, <) or to ([0,1], max{0,z +y — 1}, <) and
since G(z,z) = 22* > 0 for = € (0,1] it must be the former of these since the corresponding
property fails for ([0, 1], max{0,z +y — 1}, <).



A6. ForI'C SL, 0 e SL, T ):L g if for all [0, 1]-valuations w, if w(¢) =1 for all ¢ € T" then
w(d) = 1.

The Completeness Theorem for L states that for I' C SL, I' finite, and # € SL, T’ ):L 0 iff
NS

(i) Let w(p) = 3, w(g) = 3, so w(-p) = 1 — 3 = 3. Recalling that w(§ — ¢) =1 <
w(0) < w(¢p) we have that w(p — q) < 1, w(—p — q) <1 so

w((p = @)X (=p = q)) = max{w(p = q),(-p = ¢)} <1
Hence &l (p = q)V(—p — ¢) and by the Completeness Theorem ph (p = qN(—p—q).
(ii) Let w be a [0, 1]-valuation. Suppose that
w((p = q) VvV (=p = q)) = min{w(p = q) + w(-p = q),1} < 1.

Then
w((p = q)V(p—=q) =wp—q +w-p—q) <l (2)
and both w(p — ¢q), w(—-p — q) < 1, so

w(p = q) =1 —w(p) +w(q),
w(—p —q)=1-w(=p)+w(g)=1-(1-w(p)+w(g) =wp) +w(g).
But then
w(p — q) +w(=p = q) = (1 —w(p) +w(qg)) + (w(p) + w(g) =1+ 2w(q) > 1,

contradicting (2). Hence we must have w((p — ¢) V (—p — ¢)) = 1 and since w was arbitrary,

=g v(mp—a).

By the Completeness Theorem then

Fe s v (-p =)

B7. Let §= s1,59,...,8, and assume that 6 |~z ¢ and ¢ A =) |~z 1. By the Representation
Theorem it is enough to show that 6 |~z 1. If ;N Sy =0 foralli =1,...,m then 6 |~z . So
assume that for some i, s; NSy # ), say i is the least such. Then from 6 |~z ¢, s, N Sy C S,.

Suppose that 6 ¢z . Then s; NSy & Sy so for some a € 5, NSy, a ¢ Sy. .. o € Sy
Also av € S, since 5, NSy C Sy 50 a € Sy N Sy = Sya—y. Hence s; N Spr—y # 0. Let j be
minimal such that s; N Sya—y # 0. Then from ¢ A =) oz 1, s; N Syay C Sy. But clearly
5; M Syr—yp € S-y so we have

(Z);ésjﬂSd)AﬂpQSd,ﬂSﬂ/,:Sq/,ﬂ(AtL—Sw):@,

contradiction. We conclude that 0 ¢z v is false, i.e. 0 |~z 1, as required.

For the second part let L = {p,q,7},0 =p, ¢ =q, v =r and §={-pAgAr},{pAqgAN-r}.
Then 6 A —¢ |~z ¢ and ¢ |z 1 but 0tz ¢ so the rule fails for this choice of rcr and 6, ¢, 1.



B8. The proof is by induction on n € N such that § € SML,,. If n =0 then 6 = p for some
p € L and

WEV), wiEl < V,(p)=1
<~ V!/(p)=1, since V, =V,
— (W, E V) wkES".

Now suppose that § € SM L, 1 — SML, and the result holds for ¢ € SML,. If 6 = (¢ A )
with ¢, € SML, then

W,EVywko <= (WEV)wkE¢and (W,E V) w ki
— (W, ,E VY wk¢and (W E VY wE
by Inductive Hypothesis,
— (W, E V) wlEe.

The cases for 6 = ¢, (¢ V 1), (¢ — 1) are exactly similar.

Finally if 8 = O¢ with ¢ € SM L,, then

(W,E,V),ulE0 <= VyeW with (w,y)e E, (W, E,V),ylk=¢
< VyeW with (w,y) € E, (W E" V') yE ¢,
by Inductive Hypothesis,
<~ Vye W with (w,y) € E', (W' E' V'), y E ¢,
since for w € W, {y € W | {w,y) € E} = {y € W' |{w,y) € E'},
— (W E V) wE®,

which concludes the proof that for w € W, 0 € SML,
(W,E,V), w0 — (W E V) wkEb. (3)
To show the last part suppose that E” & but not P 6. Then there is a D-frame (W, E, V)
(i.e. serial frame) and w € W such that
(W, E, V), wkao.

Let v ¢ W and (W', E', V') be as above (with V. chosen arbitrarily). Then (W’ E' V') is
serial so since F” ©f, by the Completeness Theorem for D,

(W' E' V') v = ©8.
But since w is the only vertex in W' accessible from v it must be the case that
(WLE V') w=0,

and hence by (3),
(W.E, V) w =0,

— contradiction. Hence we must have F” 0, as required.
B9. (i) If ¢ is an axiom of ):L then ()] ¢ is a proof, so L .
4



(i) Suppose that L 1 and L (v —=n), say Ay | o1, A | oy, Ay | oy and
['1]601,T2|6s,...,T, |0, are, respectively, proofs of these, so A,, =T, =0, ¢,,, = 1,
0, = (¢ — n). Then

Al|¢17A2‘¢27“‘7Am‘¢m7rl|917F2|927"'7F7“97‘7®|n
is a proof of () =1 7, this last sequent () | n being justified from A, | ¢ (= 0|¢) and T |6,
(=01(¥ —n)) by MP.

(iii) From axiom L1 and (i)
FE @ = 0) = (0 (0 - 0)) = (0 - 09)).
From this and the instance Fo (0 — 0) of (al), using (ii),

Fho = 0-0) > 00 (4)

(iv) From axiom L4, using (i),
Fh o= 0=0)=0—=0) = (0= 0 —60)—0)

so with (4) using (ii),
FE 0 0) = 0) - 0)). (5)

Feedback

A1l. Very well done, almost everyone got full marks.

A2. Rather few students got out part (a). What should have been a hint to you was having
0 ¥ =) in the premises. The only way you can use this is with RMO and another premiss
of the form 6 |~ ¢ for some (. At the start we don’t have such a premiss, but we can obtain
one by applying CON to 0 A ¢ |~ =), giving 0 |~ ¢ — —, and now applying RMO gives
O N~ ¢ — —p. We're now nearly there since 0 A ¢ 9 (via SCL) and with AND,

OAG A (D= ) E ¢ ete.

Part (b) was well done, most scored highly on this.

A3. The definition was done well but part (i) proved tricky. The point was that the left hand
side holding at ¢ in a frame meant that there must be some j € W such that (i, j) € E. Then
if j = 6 we have i |= ©0 whilst if j = =6 then i = O—6, equivalently @ = —06.

Part (ii) was generally well done except that some students didn’t make explicit what their
proposed frame, neither giving it as (W, E, V') nor putting in the arrows on the edges in their
graph.

A4. A lot of students lost marks by omitting to say that the I'; need to be finite in the
definition of a proof. Apart from that the question was mostly done well, though an error

which occurred a few times was to apply NEC to a sequent with a non-empty left hand side.
The NEC rule doesn’t allow this.



A5. Not very well done, no one got full marks. Several students wrote down C1-C4. This
wasn’t asked for in the question, so was just a waste of time. Most students did know what
the Mostert-Shields Theorem said but then failed to correctly work out the set of = € [0, 1] for
which G(z,x) = z, usually taking it, incorrectly, to be {0, %, 1}.

At this point a common error was to go on to say that the structure

(0, 3], G, <) was either ([0, 3], X, <) or ([0, 5], max{0, z+y—1}, <). What they should have said
was that the structure ([0, 1], G, <) was isomorphic to either ([0, 1], x, <) or ([0, 1], max{0, z +
y— 1}, <). Overall then whilst most students knew the words in the Mostert-Shields Theorem
they often didn’t actually understand it.

A6. Average mark for this question was around 6 out of 10. A surprisingly common error in
the definition of FY was to start with ‘There exists a [0, 1]-valuation w . . . ’ rather than
‘For all [0, 1]-valuations w . . . ’. In the statement of the Completeness Theorem for L the
requirement that I' be finite was frequently omitted.

b

Part (i) was done well, and so too was part (ii) although the choice of cases wasn’t always the
most efficient.

B7. Most students scored well on this question but few actually scored full marks. The
common error was to arrive at the point where you had ¢ minimal such that s; NSy # 0, so
s;i N Sy C Sy, and you supposed that s; NSy Q Sy. Then there must be some o € s, N Sy such
that a € S-; and of course a € Sy so o € 5, Sy N S-;,. The mistake now was to assume that
this same ¢ was minimal such that s; N Sy N S-, # 0, so from the premise ¢ A =) |~ 1) this
gave

@#Sims(bﬁsﬁw QS¢,

which as you noted is impossible, so the assumption s; NSy € S, must be wrong. What
you should have argued was that since s; NSy N S-;, # 0 there must be a least j such that
$; NSy N S_y # 0 and from that

@#sjﬂS(ﬁﬂSwgS%

again giving the required contradiction.

The second part of the question was well done, except some students used sentences 6 A ¢ A =
as elements of the s; where they should have been using atoms such as p A ¢ A —r.

B8. The first part was mostly well done although some students wrote V,,(6) = 1 instead of
i = 0 (etc.) even when 6 is not a propositional variable. In modal logic V,, only gets defined
on propositional variables. Whilst I was vexed by this misuse I didn’t take any marks off for
it. In the second part some students wrote rather a lot without actually getting anywhere —
if you don’t see how to answer a question it is best to go to another question rather than just
ramble on like a monkey at a typewriter hoping you’ll say something that I'm looking for!

B9. Parts (iii),(iv) were done rather well but unfortunately almost no one understood what
was being asked for in (i) and (ii) — essentially I wanted you to give the proof of Proposition
8 in the Real Valued Logics notes. So instead of saying that if ¢) is an instance of an axiom
then | is a proof of L ¥ I got answers involving the Completeness Theorem — whose proof
is even too long and complicated to be included in this course!



